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1 [dbiEE 4.7E+2 1.3E+4 3.4E+4 9.7E+3 4.4E+2 57,888.0
2 |EHE 2.0E+3 2.1E+4 4.8E+3 4.3E-1 4.0E+2 27,967.0
3 |BFE 1.3E+3 5.0E+3 2.9E+3 1.6E+1 5.2E+2 9,709.0
4 |=iHE 1.9E+3 4.8E+2 3.6E+3 1.5E+2 1.3E+3 7,370.0
5 |BEE 1.5E+3 3.9E+3 3.0E+3 8.9E+0 4.2E+2 8,750.0
6 |ILZE 6.0E+2 1.6E+3 2.6E+3 4.8E+0 3.6E+2 5111.0
7 |fEEE 9.0E+2 3.7E+3 3.1E+3 5.9E+1 7AE+2 8,516.0
8 |ZIKE 7.7E+2 7.3E+2 6.9E+3 4.4E+2 5.6E-2 5.4E+2 9,364.8
9 |IHAKRE 1.2E+3 1.4E+3 2.7E+3 1.0E+3 2.5E-2 7.2E+2 7,011.6
10 |BEERE 7.7E+2 5.7E+2 8.2E+3 3.7E+2 1.9E-1 7.7E+2 10,731.6
11 [BEE 3.9E+2 2.8E+2 2.7E+3 71E+2 1.1E-1 1.5E+3 5,556.8
12 |[FER 1.9E+3 9.0E+2 3.7E+3 1.1E+3 7.2E-2 6.7E+2 8,221.8
13 |EERER 4.0E+0 3.7E+0 2.2E+1 1.6E+2 1.8E-1 1.8E+2 364.8
14 |#BE)IE 4 6E+1 1.0E+2 7.8E+2 7.8E+2 1.7E-1 7.5E+2 2,469.6
15 |88 1.3E+3 5.8E+2 1.8E+3 1.5E+2 3.6E+2 4,207.0
16 |EILE 1.4E+3 2.7E+2 5.1E+2 4 5E+1 2.6E+2 2,510.0
17 |BINE 1.1E+3 1.4E+2 6.0E+2 9.3E+1 4.9E+2 2,370.0
18 |f@HE 5.5E+2 1.8E+1 4.2E+2 5.8E+0 2.5E+2 1,250.0
19 |ILEE 6.7E+0 1.0E+3 1.2E+3 9.1E+0 4.9E+1 2,227.0
20 [EHE 2.9E+2 7.8E+3 8.7E+3 1.5E+2 7AE+2 17,705.0
21 B R 2.2E+2 1.5E+2 7.3E+2 1.5E+1 2.4E+2 1,347.0
22 |#mEE 2.1E+2 2.4E+2 4.9E+3 3.0E+2 1.9E+3 7,601.0
23 |42 3.1E+2 2.3E+2 4.7E+3 1.2E+2 2.2E+3 7,601.0
24 |ZER 2.3E+2 9.1E+1 8.1E+2 1.5E+2 5.0E+2 1,788.0
25 |iHBER 2.8E+2 6.7E+1 5.9E+2 1.5E+2 2.7E+2 1,364.0
26 |RERAT 9.4E+1 1.7E+1 6.1E+2 9.8E+1 3.7E+2 1,194.0
27 | KB AT 3.4E+0 7.9E+1 8.9E+1 2.9E+2 1.1E-1 3.6E+2 822.2
28 |EER 8.4E+2 2.7E+2 1.5E+3 6.6E+2 3.3E-2 9.4E+2 4,176.6
29 |=RE 2.8E+1 1.3E+2 2.4E+2 3.0E+1 25E+2 679.0
30 |[fnErLE 9.4E+1 1.4E+3 1.3E+3 5.0E+0 5.4E+2 3,325.0
31 |ERE 2.5E+2 2.5E+2 5.7E+2 2.4E+1 1.1E+2 1,195.0
32 |BIRE 6.7E+1 6.2E+1 2.1E-1 41E+1 170.0
33 |MWLE 1.4E+2 5.6E+2 5.8E+2 3.5E+1 2.7E+2 1,587.0
34 |[LER 7.9E+2 4 5E+2 1.6E+3 2.2E+2 4.8E-2 1.3E+3 44176
35 [luOg 6.8E+0 4.6E+1 1.2E+2 1.2E+2 2.9E+1 321.0
36 [EBR 5.8E+1 6.9E+0 3.3E+2 40E-2 3.2E+1 426.0
37 |BNIE 1.9E+2 5.3E+2 2.1E+3 41E+1 6.1E+2 3,514.0
38 |EER 5.1E+1 1.4E+2 4.0E+2 1.7E+1 1.3E+2 737.0
39 [S418 6.8E+2 3.2E+3 2.7E+0 9.0E+2 4,792.0
40 [1ERR 2.5E+2 6.2E+2 1.9E+3 2.2E+2 7.4E-2 1.1E+3 4118.2
M |[EBR 3.0E+2 5.6E+1 7.3E+2 3.6E+1 8.1E+1 1,197.0
42 |RixE 8.5E+1 1.0E+2 2.2E+3 1.3E+0 2.4E+2 2,609.0
43 |gEXRIE 6.3E+2 3.0E+2 8.1E+3 6.5E+1 9.6E+2 10,036.0
44 | KR 6.0E+1 1.0E+2 5.4E+2 2.0E+0 2.0E+2 912.0
45 |=iEE 2.7E+2 7.0E+1 6.2E+3 1.0E+2 6.9E+2 7,311.0
46 |BREE 71E+2 5.0E+1 3.6E+3 2.1E+2 3.1E+2 4,837.0
47 [HhiER 3.2E+0 1.9E+3 5.5E+1 5.3E-2 4.0E+2 2,364.3
2E 2 5E+4 6.9E+4 1.4E+5 1.8E+4 1.1E+0 2.7E+4 279,743.1
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